(PO NOT OPEN THIS TEST BOOKLET UNTIL V‘,":'?,’E’f'f'./‘”‘ th

Test Booklet Scrices

[Timc:\llmvcd * 2 Hourq

SKED TO DO SO

T.B.C. : CSP-23/1

TEST BOOKLET
GENERAL STUDIES
PAPER-I *

SI. No.

| Maximum Marks: 2()UJ

118119

-

1.

3

10. Sheets for rough work arc appended

DO NOT OPEN THIS TE

INSTRUCTIONS TO CANDIDATES

IMMEDIATELY AFTER COMN
MMEDIATI _ IMENCEMENT OF THE
IT_E\%:\SS,H)QN. YOU SHOULD cnlzcixm{‘}n%l 11;1{1[81
TEST] OKLET DOES NOT HAVE ANY UNPRINTED OR
ORN OR MISSING PAGES OR ITEMS ETC. IF SO, GETIT
REPLACED BY A COMPLETE TEST BOOKLET OF SA
SERIES ISSUED TO YOU. AME
SRCSD& CleI;E\Ié[;\\SEl ;\14. ATEST BOOKLETSERIES A, B, C
. AS THE 2 MAY BE, IN THE APPROPRIATE
PLACE IN THE ANSWER SHEET USIN ¢
PEN (BLUE OR BLACK). Ey AL RIS

You have to enter your
Roll No. on the Test

219 g\

Booklet in the Box

provided along side. DO
NOT write amvthing else on
the Test Booklet.
\'OU ARE REQU'IRED TO FILL UP & DARKEN ROLL
NO., TEST BOOKLET/QUESTION BOOKLET SERIES IN
THE ANSWER SHEET AS WELL AS FILL UP TEST
BOOKLET/QUESTION BOOKLET SERIES AND SERIAL
NO. AND ANSWER SHEET SERIAL NO. IN THE
ATTENDANCE SHEET CAREFULLY. WRONGLY FILLED
UP ANSWER SHEETS ARE LIABLE FOR REJECTION AT
THE RISK OF THE CANDIDATE.
This Test Booklet contains 100 items (questions) in both
English and Odia version. Each item (question) comprises
four responses {answers). You have to select the correct
response (answer) which you want to mark (darken) on the
Answer Sheet. In case, you feel that there is more than one
correct response (answer), you should mark (darken) the
response (answer) which you consider the best. In any case,
choose ONLY ONE response (answer) for each item (question).
In the case of discrepancy in the meaning, the English
version will prevail. i
You have to mark (darken) all your responses ONLY on the
separate Answer Sheet provided, by using BALLPOINTPEN
(BLUE OR BLACK). See instructions in the Answer Sheet.
(i) All items (questions) carry equal marks. All items
(questions) are compulsory. Your total marks will depgnd
only on the number of correct responses (answers) marked

by you in the Answer Sheet. O
(i) There will be negative markings for wrong answers. ne-
Third (0.33) marks assigned to a particular item (question)
will be deducted as n king for every wrong

response (ans_\\'cr).
(iii) If candidates give m

cgative mar

(answer), it will be
if one of the given
re will be

ore than one response

{ n
treated as wrong response (answer) eve
responses (answers) happens to be c(orreg;igg;i the

Z € A
same penalty as above 10 that item(qu ’
Before '\’OI:I proceed to mark(dar]_\'cn) in the AnsuBer Skl}g;:t 2)13
responses 1o various items (qucsupns) inthe Tt:st S}c\)oet a;) e
have to fill in some particulars 1n the Answer Sh¢! p

instructions sent to you with your Admission Ccrtlﬁco,lnui.hc
After you have completed filling 10 all your requns:t_son he
Answer Sheet and after conclusion of the cxaml,n)a_l ()i, u
should hand over to the [nvigilator the Answer Sheet issu¢ ’
you. You arc allowed to take with you the Cam.h%?ti ;3(‘):81&)::1
second page of the Answer Sheet qlungfwuh,“lLlll: rcti'scrcnce. b
after completion of the cx:mnrmll:;:::l,w "l)'zszlinnklulu! e

g1 qiee a9 F6Q a1

qeg Q6a, g6 1B QR6RaI @99 6g
aQ1al 9615 69 ¢3ad gea faS c”?iu ?@ma@ a1 6344 ej;u
Qg ad fqQfg Y Qeuld 19§ sq'@oa 6219219, f"?"ft oae
@@ gAg QIR §6] @ 69164 9’94 aalsl Q6]e QUILae |

aalml g6es @8] A, B, caDgam QIG‘GE) fm‘g m_oca 698
(@18 @Al @Q1) QIeLIR b aaq 0o6a AaR §Q O] gIF6a

gaa eal
aQifgl QRS 66 SAILIRYSI

g wesa Q8q en
caiaera sad | aaldl
Q694 6@ 21 & 6nd Q|
Q6n |RQ agea gA] aaldl Q6Qe / 99 96]¢ 8’7 C
caIm ARAg Qi@ Q8 484 @Gl ZIeq4e, a4 QagR
de 6a a1\l LERS / 99 96%e 944K 6 QAS aal
<@ eea @6 efe Q'wIQ 2§ IRA 42 994 @1 |
QN 994 621989 AR aga HIae aIx 622 eaaQial
q<a | aid a'qq RUW gl eial |

al

gqiel 219 969

@
I3
il

. <@ aQI8l 9645 60 QNG QUAIRT 8 B8l NN €oo gRIA

(99) FIIaT | 654Q §Ng A0Q @aQ 998 GRQIg a8e Al
Q60 QA OgER FIT @ 996 @@ | AF Q6A galIga Q 2w O]
Qaa 89l DIFR, 6669 Q6r 699TY AR O 6Q1R RIS 6Q%
6aIGNg § 600 GIe Queq 936 @aQ | 28 6QII6a 68ad
ol1aeal g6x, QAR QUG Ieeeq ¥ |

QR OY¢ 6aR (F1R 8 Q@RI) IR @Q TuIQINYSI GR

99 GeQ 9869 A8 AAg 98Q 49 SIS QR 9g¢F a9 | K|

g6 TUAINAN ORI 6 |

(i) aNg g9 AL AIF 926 F6Q | Y6SUR J9 SRISIARR
6T | QAR 986 §F QIR F21AIRYR| A0S, ARAQ 681
QAR ARG AIF Feia G |

(ii) QN QOQ A 6REATE, ARG 629 | Y6BIR YR Q| Al

95642 990 99 - ge1aIra (0.9M) AIFg QITT2ATQ |

(ii) 9@ gi2l 691G Q9Q QD QAR 69RAIT, 9T YR VR
@lefr 929 QQITR, 9 CQUQ 66115 O] QeQ &I, 6a3 g4
I8 QACAQ BTG 69608 AIFe TAIRg FATS |

ggg e\%elifgnm c.;sagsj 69 291 ANY AV AT TS 9T QI

9 / ssion Certificate €Q 29I @Gé@mlﬂlq 69y QO

WF 621 999 ag6Q Qaa @dig e |

2?; g;ﬁagﬁg@[;c;a QAR GG 6TRAR! C6Q B ARSI AR

AN 688 ee@m? | QG}Q gg:g e

bt o Qglene Q(E / QO Qg {UIN Q! AL QA
\ 162 QIZER 6ARAAITER, 9T AT TR TR QO |

10. 0914
| IR A 698 Aeq Rough Sheet ARG SRIQIRT |

ST BOOKLET UNTIL YOU ARE ASKED TO DO SO

SE



Which of the following statements arc

correct in respect of the Election
Commission of India?

(1

)

(A)
(B)

©)

Itis an autonomous Legal Body

Part XV of Indian Constitution
deals with the Elections and the
Election Commission

The Election Commission was
established on J anuary 25, 1950

Art. 328 provides bar on the

interference of Courts in electoral
matters.

2and3
1 and 4

3and 4

(D) 2and3

Which of the following Committees
recommended for the creation of ‘Nyaya
Panchayats’ at village level?

(A) L.M.Singhvi Committee

(B) G.VK.Rao Committee

(C) MohanKanda Committee

(D) Ashok Mchta Committee
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Which of the following statements are

correct in respect of ‘Attorney General
of India’?

(1) Attorney General of India is a part
of Indian Judiciary

(2) Attorney Genceral of India is
appointed by President on the

advice of Chief Justice of India

(3) The term of office of Attorney

General of India is not fixed by the
Constitution

(4) Attorney General of India has right
to take part in the proceedings of

both Houses of Parliament.
(A) 1,2and4 (B) 2and3
(C) 1land3 (D) 3and4

Which of the following statements are
correct in respect of Bills introduced in
Parliament?

(1) IfaGovemnment Billis rejected by
the House in Parliament it amounts
‘vote of confidence’ in the
Government

The Government's Bill introduction
in the House necessitates a

fifteen-day notice

The ‘Taxation Laws (Amendment)
Bill 2021’ comes under the
category of Money Bill

The Central Universities
(Amendment) Bill 2021 comes
under Ordinary Bill.

(A) land4 (B) 2and3
(C) 3and4 (D) 2and4

2)

3)

4)
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1,264 (B) 263

(A)
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: D]
in Parliament -
' ¢ than.
(N Absolute Majorty Moreth

nt'thcl!ousc‘s (ol o

., The majority 0

o Maiority - The mat
) Simple Majonty = - jorty
( more than 50% of (hosc presen

and voting :
(3) Effective Majority : Majorltly 0
the House's effective strength.

a1 Strength

(4) Effective Streneth_: means total
strength excluding number of
vacancies

(5) Special Majority : Majority of
2/3 members of total strength of
the House

(A) 1,3,4and5
(B) 2.3and5
(C) 2,3and4
(D) 1,2,3and4

Which of the following sfatements are

correct in respect of ‘Sittings of
Parliament’ ?

(1) In the year 1955 a Lok Sabha
Committee had proposed a time-
table for parliamentary sessions
with three times a year

(2) Itsuggested Budget Session from
February 1, to May 7

(3) It suggested Monsoon Sessjon
from July 1 to September 10

(4) It suggested Winter Secc
Session
November 15 (g l)cccmhcr lSmm
((f;) ll and 4 B) 2and3
) land2 D) 3and4

Csp-1/C

N

QAQ6R DM ATYRIA gaig LAGeq A
2q! AGYBR NG 6edT Bg 0 " 9%

(1) 8958 a°dIedeye)

- Q=9 ;
50% q 2y R iR
(2) ARG eyicEage - 0939 o
6QQURN I Hyia 509, PERE e
(3) gew QIS - %D 250y %
SR )

QAN (Qeetyr)

(4) 9991 QA9 - 2810 ¢1d goe; gy
QIQ, 699 ATAID Q9T Qg )

(5) <08 aeedgel - qgea g qoa
QIR 2/3 (90 ge1ara) qewis oig
AR

(A) 1,3,465
(B) 2,365
(C) 2,364
(D) 1,2,364

‘qeae Q@el’ 2add aeqia Q[ MY
66 0K ?

(1) 1955 adelea 9@ samim emc;
Q°aQ1a AERAT aig e8g 852 A€
qieat 98¢ QaQIq 999 Saeta

15 QEES USSR

(2) carqaial 1 Q69 7QQi8

~dia 42! 9A1A8 Sheiy

B
‘\‘$“"

s Qi
10 QQ4s Rl
GQGQQQ < Y \\i
() ﬁmi;@%ﬁe qol aaiad 809
s
~,aa@ |
. Q"\]ﬂ@
4) acana 19 % Paq @

age S
SIGQIRIT PlRL6S
e

5 Qaw

@1\7\"&

SR
B -
(/\) | G d (l)) 304

© 192

-



Which of the following statements are |

correct in respect of ‘Procedure
established by Law’ and ‘Due process of

Law’?

(D)  Under the principle of ‘Procedure
established by Law’ , as long as the
government  follows  the
procedures it has established, it’s
actions are considered valid, even
if they may appear unfair, or unjust
to individuals

(II) ‘Due Process of Law’ doctrine not
only checks if there is a Law to
deprive the life and personal liberty
of a person but also sees if the Law
made is fair, just and not arbitrary.

‘Procedure established by Law’ is
an American doctrine and ‘Due
Process of Law’ 1is Indian
constitutional doctrine.

I is correct and II and III are not

correct .

(1)

(A)

(B) IandII are correct and III is not
correct

(C) Iand III are correct and II is not
correct

(D) I,IlandII aré correct

g while pursuing
f their Groups:
public Policy

Which of the followin
common interests O
attempt to influence the
making?

(A) Pressure Groups
(B) Elite Groups
(C) Bureaucracy

(D) Political Parties
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6210dI6Q

1) ‘eea giay ggar GsIs 6997 966
iGa 91ee 6 QUPIG QRIASIQ <59
QQQIQ 2lag 28 @ AF QI AIE |6

o qa GUIG 621989 URT AR,
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(A) 10Qaee e 6 IIIOR Q6%

(B) 16II0q aes e III0R Q6s

(C) I6III0oR 26s e I10] Q6%

(D) LIIgIIIOR 2ee

F6QIg RIQ 69RF e 6QIFIQ AU Qe
ae 989 afgea ARIea Q18 F8IeaY.
JaIee QaQIg o)l QG2 ?

(A) <la saigl A9
(B) <gie squg
(C) zaries

(D) Qieehte oagee
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10.

11.

of the ‘public policy

During which part nt explore

cycle’ doces the govcrnn;(—
potential policy responscs

(A) Values setting
(B) DPolicy 1bnnulm\ion
(C) Policy implementation

(D) Policy feedback

The final six months of the Election
cycle, when the government announces

popular government initiatives is known
as - :

(A) Green Zone
(B) Yellow Zone
(C) RedZone
(D) BlueZone

Which of the following are the features

of ‘Good Governance’?
(1) Accountability
(2) Conservatism

(3) Rigidity

4) T ransparency

(5) Integrity

(6) Micro Managemep;
(A) 2,3and6

(B) 1,2and6

(C) 3,4ands

(D) 1,4ands

9.

10.

11.

‘@EMG 91 (Public Policy
U AND6R AaRQ qniqy
APARI} QG 7

Cycle) Q 69g
MG g@@ma
(A) an e

(B) <@ 3diqg

(C) o Qidygas

(D) @16 98gg

GJI98 099 6619 82 AIQ, 6a6gcace d991g

SAIRTYD AGRNIA A96RA 6AITAI Qa3 g
QAN |

(A) gReaR
(B) sgsmisqiq
(C) ¢qq eair

(D) Q69K

T6EIQ AQ 6946 QaIARa 633]Y 266 7
(1) <ee qde
(2) cmasRel
(3) <eoiael
(4) Qg

(5) Qseicel

(6) Qg adeiRel
(A) 2,366
B) 1,286
(C) 3,465
D) 485



12. Which of the following

public Policy? are truc about

(1) Itisaway of doing things including
rules and regulationg )

5 : , .
(2) Itis a.mcans of ‘authoritative
allocation of values’

(3) It is for Public Sector
Organisations

(4) “What the Government choose to
do or not to do’

(A) 1,3and4
(B) 1,2and3
(C) 2,3and4
(D) Allabove

13. Which one of the following statements
is correct in respect of Art. 21 of Indian

Constitution?

(1) It guarantees Right to Life and
Personal Liberty

(2) In the case of Narmada Bachao
Andolan Vs Union of India 2020,
Supreme Court held that ‘ngl’-lt to
Water’ isnota Fundamental Right
but Legal Right

(3) Rightto Water s inferred from the
Right to Life

(4) The Supreme C
access to Clear

Right
(A) land3
(C) 2and3

CSP-1/C

12. <a@iel @19 (Public Policy) @a06a Geqig
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(1) - Q16 6 19AISR U678 AL ANGRA
4@ QI

(2) @ gRIEaIIa AR UINGRA 99
Qe

(3) w2 QIgae gl IR &g

(4) Q9RIQ Q' /BRI 6« @A a9 QBB
A) 1,364 |

(B) 1,263

(C) 2,364

(D) «aeQIg 999

13. QQelg QAAIKQ dlal 21 aamea 86919
QGqee AuQ 6a9E O] ?

(1) N2 QRINGI B F19FR AAURIAR Ql416Q&
cQaalig

(2) ‘@dQl QOIB ICRIRE AN JRAR} AT,
Q821 2020’ QiRIeR 980 616 ALYsR
69 8F 2RI 6A1a0 ANRIQ L, 2
QRS AURIQ

(3) o° YRR FINER AURIRY AT

(4) Q8 6l au Fge AId AR QNI
AL 6N QTS

(A) 163 (B) 2a+4
(C) 263 (D) 14
7 |P.T.O.




14.  From which Constitution ‘Suspension of

Fundamental Rights during Emergency’
was borrowed to Indian Constitution?

(A) Soviet Constitution, USSR
(B) Weimer Constitution of Germany
(C) French Constitution

(D) Swiss Constitution

15. Which of the following statements
are correct in respect of ‘Right to

Education’?

(1) Art. 21(A) of Indian Constitution
provides Right to Education for
free and compulsory education to

all

(2) Right to Education Act was passed
by Indian Parliament on August 4,

2009

(3) Right to Education came into force
on November 14, 2009 -

(4) Art. 21 (A) was inserted in the
Constitution by 86" Constitutional

Amendment Act, 2004

(A) land3
(B) land2
(C) land4

(D) 2and4

CSp-1/C
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6Q@ AAMUING ‘FQA UAKER 641AR 2URIAQ
fRAe’ QAT ARG 2QIFIRE ?

(A) 69Q199Q QAR Z49QUIR
(B) 639aR QfdIf, Q1
(C) sgg afg

(D) 49 qfdie

Tl ANQIR’ TAGER F6919 QBYER FrY

6906 0K ?

(1) e araiea A9l 21(A) 299g
aiadl 6 QrISIRe Aal Aaa JaI 2RI

gele «a8

(2) 2009 298 4 6a AT a°qQ Qlal
Fal ANQIQ AIFAA QRS caIQeImi

2009 weana 14 69 FAl AR
2GR0 RUY LMl

3)

86 @l QfAIg QeI eipac 2004
Qlal Qfdiesa il 21 (A) 28¥8

(4)

=la](aall

(A) 163
(B) 162
c) le4

(D) 264



16. Which of the following are related to

17.

cRight to Pri_Vacy‘?

1)

Art. 21 of Indian Constitution

(2) Art. 12 of Universal Declaration of
Human Rights

(3) Art. 17 of the International
Covenant on Civil and Political
Rights.

(4) Art. 8 of European Convention on
Human Rights

(A) 1,3and4

(B) 1,2and3

(C) 2,3and4

(D) Allabove

. : | Declaration
Which Article ofUIIIV;r;i the ‘Right of
of Human Rights tells i

Nationality’ depends
“Every one has
Nationality””?

(A) Article 13
(B) Article 20

(C) Article 25

(D) Article 30

CSp.1/
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‘QPae celaaae! QIR AAREA W6

caae OR ?

(1) QIe@1a aRIIGS aia 21

(2) QI8 AyQ@a QAITEFIR CAIBAI

alal 12

qleae G Qleeaea 2RRIQ QU6
2aeIee garIale aa 17

A3)

gealala aleee ¥R AEARAIRQ

(4)

alal 8

A) 1,364

B) 1,263
(C) 2,364

D)

QU ARG

AIRAR JURIAR AIGKFR CAINAIQ 68Q AIQl
‘QSIABIA ALY T ARl RACA TR

QAN 6QIR QLAN 1 “‘QERR RIFQ 99 |G
R AT 1

(A) e 15
(B) ae 20
(C) uei25

(D) w30
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18. With reference to inflation targeting by
the Reserve Bank of India, consider the
following statements :
1. InMay?2016,the RBIAct, 1934 was
amended to provide astatutory basis
for the implementation of the
flexible inflation targeting framework.
2. Under Section 45ZA, the Central
Government, in consultation with
the RBI, determines the inflation
target in terms of the Consumer
Price Index (CPI), once in five years.
3. On March 31, 2021, the Central
Govemment retained the inflation
target of 6 percent with the
tolerance band of + 2 percent for
the next 5-year period - April 1,
2021 to March 31, 2026.
Which of the above statements are correct?
(A) 1and2only
(B) 1and3only
(C) 2and3only
(D) 1,2and3

19. Which of the following statements are

true in relation to the G20 New Delhi
Declaration?

1. All 83 paragraphs of the 2023 G20
New Delhi Leaders’ Declaration
were unanimously approved.

2. It didn’t feature the conflict in
Ukraine and its subsequent
economic implications.

3. The declaration stressed the
urgency of mobilizing US$4
trillion per year for clean energy

technologies by 2030,

(A) land2only
(B) 2and3only
(C) 1and3only
(D) 1,2and3

CSP-1/C
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1. 6a 2016 6 21Q.5.212 218 1934
6Q Q6HIUA QLR AN QIF1S Qay
QIEIQ QITIQHS QIR IR TYSR g
gaIf FAUAIRYM! |

2. 96 QiEQdea 261 §IATT Ay gerq
JeI91e RYYQ AIA.S.2IR A2 QIR @
QA AR GFIQG QRB : 921 45ZA
IR AQAIN

3. qig 31, 2021 6a 689 99919 999!
aiged 9ga 1,2021 @ aug 31,2026
adye 6 goae ALRYIR UIY A2 g]Is1e
AYQ TS QYR

QO6AIg 699 AT O]
(A) eeee 162
(B) 6qe® 1‘(33
(C) emen 263
D) 1,263

19. Gqtge @8 aes aug G20 quidq) saiadl

2QQI68 62QS O] ?

1. 2023 G20 qu@Q! 676Ie 6QIBAIER
ang 83 2g6pe adanfigen AgeAs
62IR2M

2. «e6Q QEIRA Qf 6 aaed! 218e 98I
QAR AT YR

3. <@ saimeiaial 2030 gai g8 63 999
aig esqg US$4 afair @QqIee
JQQIeaIa IR

gqen 162

(A)
(B)
(€)
(D)

geae 263
caee 163
1,263
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). MGNREGS is Tecognised as ‘core of the

'1.

) o
core’ scheme for achieving Sustainable
Development Goals i

India.
MGNREGS. Was reported in the
Voluntary National Review (VNR),2017
by Government of India fc;r its

contribution to achieving which of the
following SDGs directly?

1. SDG1-No Poverty

2. SDG2-ZeroHunger

3.  SDGS5 - Gender Equality

4. SDG10-Reduced Inequalities
1,2,3

(B) 1,3,4

C) 2,3,4

D) 1,2,3,4

Consider the following statements :

1.  Poverty line estimation in India has
been based on the consumption
expenditure and not on the income
levels.

2. Ttis difficult to assess incomes of
self-employed people; daily wage
laborers etc., and theremay be large
fluctuations in income due to
seasonal factors ‘

Which of the following i correct in

respect of the above statements‘? .

(A) Both 1 and 2 are correct ?ﬂd lis
the correct explanation of2

(B) Both 1 and 2 ar¢ correct, and 21s
the correct explanation of 1 o

(C) Boththe statements arc Cf)mfb)lhcr
none is an explanation of thc‘(‘

(D) Both the statements 4r¢ corree
unrelated

C8p-1/C
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20.

21,

- T,

I\/EGNREGS WABER calaan aqigg Qe
(SDGs) 60 0281 a5 “saig ag 3 621,
GR" QIR6Q BRS 62A | AREAIM Bicng Sene
QR 6aIesIa 6a1551 MGNREGS a9
BRQIRY 9289 IR Q1SS AR5 91 caige
quQeim QY (VNR), 2017 6o 2g89s
SDGs q@@a ge4a 9196a 86219 571927

1. SDG1-Q3gye g
2. SDG2-gugmy

3. SDG 5 - Aeae aaieel
4, SDG 10 - aqqigel 19
A) 1,2,3

B) 1,3,4

©€) 2,3,4

D) 1,2,3,4

PARYe R8G9 @ |

. QUGGER QR 614 AIRRE AT D
G YOgR A6 | LS ATER AR

2. 42 9-RYB o1, T° AgRa Q@ @
2AQ AIRRR 2SI Q0R AN G 9L A

QAR AR AR QY AAGA AQINTHAY
eLIRAIER

QU QY AINS ARIAER FEIY S QRS
AUQ 69T O] 26e ?

(A) 992 1620% 61 6298 2 @ /R

QUIgHy|
(B)
(©)
(D)

001 620, 826208 1 @ O] Syl
R0 O3 O] AQ 6% QIR I Qe

ARa 9 0] {q ane QiR

[P.T.O.
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23.

22:

Which of the following terms are the
components of forex rescrves?

1. Foreign Currency Assets
2. Gold
3. Special Drawing Rights

4. The Reserve in the International
Monetary Fund

(A) 1,2and3

(B) 1,2and4

(C) 2,3and4

(D) 1,2,3and4

Which of the following statements
is NOT true in relation to
PM-VISHWAKARMA?

(A) Itwaslaunched by the President of
India on 17" September 2023.

(B) ItisaCentral Sector Scheme

(C) Thenew scheme intends to provide
recognition and holistic support to
the traditional artisans & craftsmep,
working with their hands apq
eclementary tools

(D) Thescheme intends to improve the

quality, scale and reach of artjga

products and also to integrate them
with MSME value chajng

CSP-1/C
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22.

23.

AORYS AR QER AUQ 6R0T 6F60dq Qe
QIR QIR 26T |

1. 696Q8Q Q< aAnQ

2. g%l

3. 40 014 2y

4. 299012 laIdeq A° QWS

(A) 1,263

(B) 1,264

(C) 2,364

(D) 1,2,364

R67119 6200 4.47. Sgadl anee gee ?

(A) w21 17 sasgaa 2023 sa @laee
QAFPUCF QA JRINA 62IRAR

(B)

N2 6R49 641l

(C) <@ Q0@ 6QIRl @ Q6QeY QMR
Sodgl 6 2gdg caRnIeR @ 6aAIRS
21e 6 gIoHe A0 QLR *QAEK
6QAIRg AIAGIR ATISGI 8 QI9e 4T

QA

@ Q7 GRINIRAIRE  Qaeal | QRS
qIe 98 @89l 6 MSME @ qay 48!
QL 6ANING ANFE QI Qe Y

(D)



25.

with reference to GST, which of the
following statements are true?

. GSTis based on a system of
concurrency of indirect taxes,
where every transaction attracts
central as well as state GST

2. GST replaced a production-based
taxation system by a consumption-
based tax system

3. It brings destination principle for
cross-border trading for which the
poorer and consuming states are
benefiting at the expense of more
affluent and industrialized ones

(A) Only 1 and 2 are true
(B) Only I and 3 are true
(C) Only 2 and 3 are true
(D) Allthe above aretrue

Which of the following statements is
incorrect about Production Linked

Incentive (PLI) scheme?

(A) Itis one ofthe several schemes as
part of the ‘Make in India
initiative.

(B) Its aim is O
manufacturers 2
domestic production-

incentivise
nd promote

(C) This initiative contributes to
in the

enhancing self-reliance !
country.

(D) This scheme is appli
pharmaceuticals, textiles an
processing sectors-

cable only t0
d food

CSp-1/c
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24.

25.

GST 296 F9RYe adaiea Auq 6ads
Qcy U6 7

1. GST CeaE J6QId TRd Q 69159
QaISaIe gaal 6990 g6aiR 6REsad
6q 6ag1a 6 QIeY GST Mig 621RaN |

5 GST ie@ 6 59a 939l Q18I Qe
Sae Gea gaal 68 aReER 624

3. «@ AL Qldgy IR RAIGR 916

2138, 6ASE QIR 909 Ne° QeS| Qe

qee e Aqe 99° QEQYIFIRAE
FRIEQ RN 622858 |

(A) 6aee 162 Q61 a6y
(B) 699 1 83 Q01 26T
(C) 629w 2 63 Qe AT

(D) @aeaig Ay AGH AET

SaRde QGrIeT UG 6REE QUIeR ANRe
aneda da (PLI) easa 0] g6<

(A) 9@ “6a) aa adal”’ 64IeR @ I«
2°8 QSER UCKR CQAIGR! & F1-IQ 661G

-~ o~ <

(B) <2 2@y 62aF G0l 6 A6aIa QUG
€912 63!

(C) <2 sgIvIgea 219Qle 62QE 6996R
ARG Q SRIE

(D) @ qq aidicial seipan coee Ga
QAINM, 2EES B HIQY TR INUAER

[P.T.O.



26.

In discharging its rolc as a facilitator for
rural prosperity, NABARD is entrusted
with responsibilitics of

(A) Providing refinance (o lending
institutions in rural areas.

(B) Bringing about or promoting
development of commercial banks.

(C) Evaluating, monitoring and
inspecting all banks inrural areas.

(D) Monitoring all developmental
projects in rural areas.

India is one of the few countries
experiencing falling child sex ratio.
Which among the following statements

could be the major reasons behind this

phenomenon?

1. High female infant mortality
(relative to male infant mortality).

!\J

Female foeticide.
(A) Only]l
(B) Only2
(C) Bothland2

(ID) None of these

CSP-1/C

14

26.

27.

Y18 22G1996 QIel aRige e

@dQ168 NABARD Q 6Qq
SAAIQR:

9091 B
QR g

(A) @I916 6ag6Q 2IggRe uig Q908 2
ARG gaIR ¢

(B)

QUETIR QUK @ TRIG60 R9F 2iFg,

©

QIA1E 6ARER QUIS, YFIR RuIae,
Q196 6 eI QAR

gIfg 6AQER ANG SRITANS 9§
ax1ad @3l

(D)

QNG 6207 BR 694 FRIYER 6N 64 630
d¢ A 2QaIe LI QRS 29 | FIRYS
QPAIRE FRIQ 6RAT IE QR G QA8
26Q ?

1. 2ye oY qeuaie (9@ d4 99129
26aal)

2. QY gaeeul

(A) eeee 1

(B) seem 2

(C) esala?2

(D) 9AIRE AuQ 6NadT qes



28. @@ Qv AG6RQ G99 @ DR A6Q 8 By

28, Gases that trap heat in the atmosphere ;
and cause global warming are called agel 98 @6 919 PR A199Q GHI6Aq gRIara |
greenhouse gases.
SaEEe AU 66 67 R Waq aNEaY 9
2649 928 7

which of the following combinations are
notincluded under the greenhouse gases?

(A) Ql9q PIRUIRG, feel@

(A) Carbon dioxide, Methane
qIAga ARG, ANESITSA QIeQ

(B)
(B) Nitrous oxide, Hydrofluorocarbons
(C) @Idg ALRITING, aRe ¢IR AFNF

(C) Carbonmonoxide, Sulphur dioxide
(D) <K ¢IR2gIag, GIda 69

(D) Carbon dioxide, water vapour

29. More than 90 percent of all nitrogen are 29. qaQI AIRCFIACRRAS QI FIREFISER R 90%
Q 2S ¥6AGAl QIAEY G RIAES WIET de

fixed as ammonia, nitrites, and nitrates
by soil microorganisms. Symbiotic Q62 | 6RgFieg 8 Qg 566 AALER IRESRI
g% 97 G0% el aeRIemIeg O] /daN |

bacteria associated with legum'inous
plants fix nitrogen by the formation of
root nodules. In which of the following jeu ) i
plant nitrogen fixation does not occurs? AORYS FRIQ 62Q A6 FIRELIETR, TEFAR

eI Qe ?
(A) Common Beans A): %
(B) Soybeans ®) camg
(C) Peanuts ©) aee (Peanuts)

D
(D) Oats O} (0t
15
[P.T.O.
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30.

For protection of plants and animal
species and to provide for the plcvcnlmn

and control of water pollution, air
pollution and the environment,
government of India has taken adequate
steps and several prevention, control and
protection Acts has been enacted.
Which of the following combination of
statements is correct?
(A) The Water (Prevention and Control
of Pollution) Act, 1974
The Air (Prevention and Control of
Pollution) Act, 1981
The Environment (Protection) Act,
1986
The Wild Life (Protection) Act,
1972
(B)
of Pollution) Act, 1972
The Air (Prevention and Control of
Pollution) Act, 1981
The Environment (Protection) Act,
1986
The Wild Life (Protection) Act,

1974
The Water (Prevention and Control

of Pollution) Act, 1974

The Air (Prevention and Control of
Pollution) Act, 1986

The Environment (Protection) Act,
1981

The Wild Life (Protection) Act,
1972

The Water (Prevention and Control
of Pollution) Act, 1981

The Air (Prevention and Contro] of
Pollution) Act, 1974
The Environment (Protection) Act,
1986
The Wild Life (Protectlon) Act,
1972

©

D)

CSP-1/C
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30.

Q89 6 9IEN 9969 gadl AR 99° g 9984,
QI 9984 6 AR6R4 A FAINE 6 Toqe g
aIRe AGRIA Q2IPe A96FT 8 Ar ggiq
qeIeg, Fa34 6 9aal 218 9RIR 9383 qg

QIg 621Q TR |
AORYe AUQ 699 A9 679@ OR 26g 9

(A) % (9984 @ G198 6 §9a4) e,
1974

QI (9984 @ FeIad 6 TAg4) 2ias,
1981

agiees (gaal) 21ag, 1986
Qdue1e (gl aieq, 1972

aR (geud Q Gelad 6 2aad) AR,
1972

(B)
Qg (998d @ FRIQd 6 R934) AR,
1981
afeed (gaal) aies, 1986
Qaye1e (gaal) aiIee, 1974

an (gQud @ 48 6 fagd) iag,
1974

Qg (9984 @ ReIed 6 Gaqd) LT,
1986

©)

adses (gasl) 21ag, 1981
Qae1e (geal) aiag, 1972

ae (gegd @ Geladg 6 Fagd) dRd
1981

D)
Qg (9994 @ HeIRa 6 Fag) R
1974
adsed (gesl) Zieg, 1986

Qdls1e (geal) aIeR, 1972

 dd



31.

32.

Government of Odisha has declared the
following Biodiversity Heritage Sites
(BHS) for the conservation of
Biodiversity in the state,

Which of the following pairs (Name of
the BHS and district) are not correct?
(A) Gandhamardan Hill Range:
Bargarh and Balangir District

Mandasaru Gorge: Kalahandi
District

(B)

(C) Satkosia Gorge: Angul District

Mahendragiri Hill range: Gajapati
District

D)

Acknowledging the years of efforts of
tribal people in conserving 130 varieties
of indigenous cultivars of rice, Koraput
district was declared as a Globally
Important Agricultural Heritage System.

Which one of the following pairs
(Organisation: Year) is correct?

Organization

icultural
(A) FoodandAgricu 082

(FAO) of United Nations: 1

anization

(B) FoodandAgricUIturalorg 1992

(FAO) of United Nations:

_ anization
(C) Food and Agricultural 08 002

(FAO) of United Nations:

. anization
(D) Food and Agricultural Org 2012

(FAO) of United Nations:

Csp.1/c

g
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31.

32.

BG4I AQRIA QAURIER QUeBIGIIRRGSE
(Biodiversity) @ a‘aae aig dadye
QIEAIFIANAUT 62A6ER ARG 62U 9587 |

faage 69 6a1F (8.49.499. @ /1A 6 Fq))
o] g6 ?

asslge aee 9999 : 999e 6 ARG
onl

(A)

aaialq o : *RI2IE Gl

(B)

QqieeRIdel 98 : AGIR SR

©)

Q62066 a9e AR : A9aE G

(D)

130 gQIaQ 6941 AIe Sl A°eVE AIR
21311 6AIRT AQIA] Q19T geIe QAR aIQ
6Q1Q1gS FAIQ 69159 Fggala ALy
Agricultural Heritage System @16< 6184l
FAULIRLRI |

FARYS 6QIF (gl : 9F) FINQ 69Q6 O]

(A). ALA°aq AFe AN M 6 Q8
aql (FAO) : 1982

(B)

P°qa FRe AFAINSR WY 6 Q8
Qg (FAO): 1992

©)

RIS AR ARG QAUFAINSR NN 6 QS
gl (FAO) : 2002

(D)

QIEQ°AQ 76 QUFANTR N G Q¥
Qi (FAO): 2012

|P.T.O.
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33, QIE AAQIQ “‘FIRAA 69169Q"" 2199 Qg

33. The ! i had launched “Project N .
Tigeg»? ::mo]?::lls: l;:ii?:t conservation 1" qgm 'l 973 6 QHK_:J?HG‘G-‘Q Qa4 BRl86q
initiative ofit; kind in the world on I sl qiq% gaed Qﬁ.].a Bl (i%m '
April 1973 to promote cons ervation of 1973 QQQIGQ—.G}IQGQ Q0R QIRI6R 9 T Quig
the tiger. Nine tiger reserves were Q'ame gie goql eaml |
established in different states of India in
the year 1973. SRYe AUQ 6R4 6ARR QUIF A°Ad 9BgIa

_ zea e 6% aiel 1973 adeisa géq
Which one of the following 62IRAR ?
combinations does not include the Tiger
Reserves established in the year 19737 ) R
(A) 61666 CIRGR AR, IARAIR TIRAQ

(A) Corbett Tiger Reserve, Similipal qea
Tiger Reserve _
cUIRgR - QIAIRF cIage ded,

o (B)
(B) Dholpur-Karauli Tiger Reserve, qlecaIde cInaa Ges

Satkosia Tiger Reserve

(C) Manas Tiger Reserve, Sunderbans (C) QIR FIRFR Aee, JRAeR SIRE Eleie

Tiger Reserve .
(D) @IeI62iQ SIR9a A8d, @9 FIRFQ alalo)

(D) Ranthambore Tiger Reserve, Kanha
Tiger Reserve

QIFge I°ale U8R 62Q8 Res Ag9ea &Sl
9@ gIf, 6990 AIRS gRal 9FR /FIeT RINER
aqeIRe 99 6 69T gIe QFg 9154, UGS,
QOYE, QIR1E, 21ERS FA /161 *gaS Q9
gIQee §n1 A62I3R ARRAIGE IR 963 B3

34. A marine protected area (MPA) is | 34.
essentially a space in the ocean where
human activities are strictly regulated and
these places are given special
protections for natural or historic marine
resources by local, state, territorial, QUAIRE |
native, regional, or national authorities,

Which one of the following is not a RAaYe ANQ 6738 A1gee a'ade 2B 965 1

MPA?
(A) 699ea 60l

(A) PeriyarinKerala
(B) Bhitarkanika in Odisha (B) 6RaIa Seasda

(C) MalvanMarinein Maharashtra (C) aga AIRKI} EARURR]

(D) Coringa in Andhra Prades, (D) BIggeasa 6aida

CSp-1/C
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_The United Nations Confere
nce on

yironm
EI?NCED) E:nlt and  Developm
( S also known as the ° ent
Sumt_mt , was held in Rio d;e Ei{nh
Brazil, from 3-14 June 1992 Janceiro,

Which of the following combinations of
statements about the conferen ns c.>f
crence 15

correct?

This globel conference was held on
the occasion of 20" anniversary of
the first human environment
conference held in Stockholm

i.

Sweden
i, It fecused on the “impact of human
socm-economic activities on the
environment”
iil. Representatives from 79 countries
participated in the conference
A) jand il
(B) j and iil
(C) i and il
D) il and iil
. Global
Microsofts the remplent itting 1O
Action Award, is nov © nt all t
remove from he envlrozmnted either
carbon the compa®y . as onsumption
A 160’[1'1(5al c 50.
directly Of © di 1975 by 20
since it was unded’ -0 any has
: t
From which ¥ eal *  iral?
adapted t0 pe carb” nes
a) 2010
B) 2012
() 2014
(D) 2016

19

35. UNCED 2die ‘Earth Summit’ ¢
saIqal, O 3-14 4R, 1992 a'ﬂ?‘a g
Janeiro SIGR 6Q 2GS RAKUA | 0 de

aghye a9 6Ane AR ¢121§) 6@4G OR 265 7

4G §4ga1a QRART FREI, §609 69
gen AIee gbieqd aRea1a 2084 QIR

Qaqsa agge 62ER!

2| ‘aGead ades adee 2llejR-aIER

ii.
gae’ agea q8 gadd adR

Q 641991

79 gaaq oL q16e QRFIE
qaeen

iii.

igii
i 6 iii
ii @ iii

i, ii @ iii

36.
d) @ Q6a¢l,

alq @ael @8l gogees
cang 1975 adelea 9199
| 63quEe QUeZIR

¢ faeal 629! g2¢

caq adq adIa! 2Gaa

aml

(A) 2010
B) 2012
) 2014
(D) 2016

[P.T.O.



37. World Environment Day is the United

38.

39.

Nations Day for encouraging worldwide
awarcness and action to protect our
environment. In 1972, the UN General
Assembly designated 5 June as World
Environment Day (WED). The first
celebration, under the theme “Only One
Earth™ took place in 1973. Thereafter
every year the day is celebrated with a
theme.

Which of the following pairs (Year and
Theme) is not correct?

i. 2023 : “Solutions to Plastic
Pollution”

ii. 2022 :“Only one Earth”
ili. 2021 : “Ecosystem Restoration”
iv. 2020 : “Time for Environment”
(A) i

(B)
©)

D) w

iandii

11 and iii

One light year is equivalent to roughly
how many kilometers?

(A) 1.5 trillion kilometer
(B) 4.5 trillion kilometer
(C) 7.5 trillion kilometer
(D) 9.5 trillion kilometer

Jet fucl used in turbine baseq aviation
engine mainly consists of

(A) Petrol
(B) Diese]
(C) Kerosene
(D) CNG

CSP-1/C
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37.

38.

39.

—

~

Qq q@m 994 6203
eoginsm 49941 Qidygq QRS 93

Q f,woe ?le @99, 1972 69 gQa) L

“RR01 Qf afeea Qqqg WeR 5 aqg q*]u'm

gjm I 1973 adaieq “6Req GSH;:‘QQQ@Q

QQQQ% 69 Q99 I8 Qipqy | Q:'N il

-~ = S, QGQ R
€49 66159 Gag ARIRER QIpg G%_’??qd

Qﬂg QQQQGQ QGS‘QQ

FANYS AUQ 69 srng

268 7 (¢ @ Qa9) Og

L 2023:“q&g 9984 Q@ Gaieqs”
i 2022 : “cqqq 6aien gaer

iii. 2021 : “qseiGaq (ecosystem)
JeQeIR”

2020 : “aQeqs aiq ang”

A i

(B)
©
D) w

v.

16ii

ii 6 iii

659 2ICRIQT 6AIGIEAIT NIEQ 668
Qenudeq ?

(A)

(B) 4.5 SRag Fsaidex

1.5 §RaR RERAIATA

(C) 7.5 SRa] FeaiAic

(D) 9.5 SRaR FeRisa

S E gss
CacIae RIS IR A6 QeLe
QRq alues

(A)
(B)
(®)
(D)

HENQ
(A=A

6@6Q1dR
(N



40. Thelightemitting dioqe (LED) is made

41.

42,

of
(A) Si

B) Ge
(C) GaN

(D) Tungsten

Meniscus rise in glass thermometer is
due to the change in

(A) Density
(B) Mass
(C) Heat capacity

(D) Thermal conductivity

A glass of (1) tap water, (2) distill.ed
water and (3) sea water is COOI‘G(; ttoh;ts
solidification. The order in which they

will solidify first is

4 watef, sea water

(A) tap water, distille
(B) distilled water; sea
distilled water

(C) sea water, tap Wath

(D) distilled watef; tap W

CSp-1/C
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40.

41.

42,

2ICRIR AIFR GIR6e (LED) 3213 821921
(A) Si

(B) Ge
(C) GaN

Tungsten

(D)

Qo 26fIficasa 67F%A QF 624 QAEQ
adeas 64Ig 621219

(A) aeq
(B) <ge
(C) <«aua 98 gael

(D) ciae adeieal

69T quasa (1) eI @id, (2) 8]] aId 4e°
(3) ege a1§q af1eed AQIAIR 281 QAIAI |
69QER 69Q QFIEQ Q0N 626@ CIQI 62QF

(A)

QuIg 91, B8R AIdl, QL AIE

(B)

o8Q aid, aqge aid, cuig 18
(©)

QQQ aid, euiq Q1d, 3] a1,

(D)

38 1§, suiq aid, Qe aid

[P.T.O.



/

43. Consider the following regarding the
Revolt of 1857.

1«

o

Indore troops had joined the Revolt
against the wish of their king,

Mangal Pandey was executed at
Meerut.

Tantia Tope was active both at
Kanpur and Jhanshi.

Sindhia sought refuge from the
British at Agra.

Which of the following are correct?

(A)
(B)
©)

1,3and 4
2,3and 4
Only 3 and 4

(D) Only1and4

44. Consider the statements regarding the
nationalist Romesh Chunder Dutt.

1.

He translated Ramayana and
Mahabharata.

He was president of the Indian
National Congress.

He qualified the ICS.

He was president of the Bongiya
Sahitya Parishad.

Which of the following statements are
correct?

(A)
(B)

1,2and 3
2,3and 4

(C) Only2and3

(D) All are correct

CSP-1/C
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43. 1857 Qge aeg FINYe] Jeig Q9 |

44,

L.

RERIA AR 6ANINSA ARG g 9
Q4R 68 6RIGIR AB2eR

ATRAIET Fae 60 T Juiapeg,

0521 63160 ANG ARYR 6 HF6a aza
(32

dRal uigea 8§89 AIRe 019 2140
6RIREER

SORYe A 6966 O] ?

(A) 1,364

(B) 2,3c4

(C) exer 364

(D) seen 164

RIGINCIR Q6AE 98 Q0T AIRER QFAIeg
QIR A9 |
1. 6d aifigg 6 ARIRIee agei@ QQgeR
2. 62 QASIA [SIA S6FYAR ANAD 2eR
3. 6qICS 210.d.499. 63 REg c2IRSR
4. 62 eana Qigey afeea AR 6

FARYS AFAINE AMIQ 6948 O] ?

(A) 1,263

(B) 2,364

(C) 6se@ 2063

(D) qng o]




45. Consider the statements regarding the

46. Match List-I and List-II and select the
correct answer using the code given -
below :

List-I List-II

a. Faulting 1. Yardangs
b. Wave erosion 2. Kettle Hole
c. Ice Scouring 3. Escarpment
d. Wind erosion 4. Stacks
Codes :

a b c d

A 3 41 2

B) 4 3 1 2

€ 3 4 2 1

D 4 3 2 1

CSP-1/C

f '

Home Rule League.

1. S. Subramaniya Ayer was on
associate of Annie Besant.

2. 1t started on behalf of the Indian
National Congress.

3. It changed its name to Swarajya
sabha.

4, Its flag had the Union Flag on it.
Which of the following are correct?
(A) 1,2and3

(B) 2,3and4

(C) 1,3and4

(D) Only land2

45. g2 198 A ARIAEA AFAITG FoIQ @9 |

46.

1. Q. 994 2I0IQ AREAS Q 16T
gem

2, 92l SIe0IA FIG1A @°699 YT i1
ceIemI

3. gl 68 Qa9 4R ARIEA adeen

QQAgmI
4. q2Iq 96 GRAR Jo%I cRIARI |
8¢ elRINg 6996 OR ?
A) 1,263
(B) 2,364
(C) 1,364
(D) eeerl62

gaq ‘d ga age ‘o’ ga g A ea | fgea
FUAIRARI 6IF G 697 O] aaq Qag |

‘e ga (List-I) ‘s’ ga (List-II)

a. o® (Faulting) 1. qiier
(Yardangs)
b. 63@ QISR 2. 629 62N
(Wave erosion) (Kettle Hole)
C. AR 6QIT" 3. RQeIeqene
(Ice Scouring) (Escarpment)
d. o049 asaer 4. Q9
(Wind erosion) (Stacks)
621¢ (Codes) :
a b ¢ d
A 3 4 1 2
B) 4 3 1 2
€ 3 4 2
M 4 3 2 |

[P.T.O.



47. Carefully rcad the  following
assertion(A) and reason (R) and sclect
the correct option from the codes

Assertion (A): Scandinavian countries have
aregressive age-sex population structure
Reason (R) : The population growth rate
is negative in these countries. For
selecting the correct answer, use the
following code:
(A) Both Assertion (A) and Reason (R)
are true and Reason (R) is a correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R)
are true but Reason (R) is not a
correct explanation of Assertion (A).

(C) Assertion (A) is true and Reason
(R) is false.

(D) Assertion (A) is false and Reason
(R) i1s true.

48. Match List-I and List-II and select the
correct answer using the code given below:
List-I List-II
(Major cultural (inhabitants)
region of world)

a. Arctic region 1. Eskimos
b. Desert 2. The Indians,
Negroes and
Immigrants
c. Latin-American 3. Samoans,
Region Tahitian,
Tongan, etc.
d. Pacific Oceanic 4. Caravan
Region
Codes :
a b c d
(A) 4 1 3 2
B) 1 4 2 3
€)1 3 2 4
D) 4 2 3 1
CSP-1/C
P
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47. {6 iR QEQIQ
UMWIER Q@ G gaip

48.

Qg |

(A) 6 290 (R) g
(code) g 0= Fagag

96919 (A): 86RA2IR, cRarIRTEa o
9991 Q9a-Rer aagey) QI8 94T |

@198 (R) : 1@ cosqeeca aearay QE2Q

@ARR QLT | 0] aaa eEe i 0 @9
code (6218) quegiq g |

(A)

(B)

(©)
(D)

995 96913 (A) 6 @108 (R) 6@ asy
@ad (R) 6208 96213 (A) @ 0K Quisl
4139

g@@ 6213 (A) 6 @198 (R) g&e aey
@9 204 (R), 96913 (A) @ OR «uistl
Q6%

6219 (A) a4 6 @194 (R) dayl 2iee
96913 (A) fayl 6 @iIe4 (R) aey ai6s

cimal I 6 II g 6010 @Q 6 {76 S2IAIRAYLA
621@ (code) 9&q 6aa O] @9t QI8 |

-1 aa-II

(G9Q 99N °qoe 68g8)  (QIEQ)

a. geeq 689 1. @sql
(Eskimos)

b. ag@f 2. QeI Fegl 6
QEQEMIQ

(The Indians,
Negroes and

Immigrants)
c. QEe-zleARMa 3. ASARIR,
28R QIRCUIR, )
6SIREIR 99%
(Samoans,
Tahitian,
Tongan, etc.)
Qeaid 4. QIARKI]
‘ 3?; i (Caravan)
cal¢ (Codes) :
a b ¢ d
(A) 4 1 3 2
@ 1420
(D) 4 2 3 1

‘



49.

50.

Match List - I with List - IT according to
Koppen’s Climatic classification system
and select the correct answer {rom the
codes given:
List-1

(Climate Types)
a. Af i.

List - 11
(Characteristics)
Humid
Tropical
Climate
ii. Tropical

Humid and
Dry climate
iii.iMonsoon
Climate
iv. Dry Summers

b. Aw

c. Am

d. As
Codes :

a b ¢ d
A i i i v
B) i ii1
©) iii i i v
(D) iv il 1 il

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below:
Assertion (A) : The Peru desert is
recognised as a Cold Desert

Reason (R) : The temperature of

Humbolt current plays a dominant role

in controlling the surface atmospheric

conditions of the coastal areas.

(A) Both Assertion (A) and Reason ®R)
are true and Reason (R) is @ correct
explanation of Assertion (A)-

(B) Both Assertion (A) and Reason R)

" aretruebutReason (R)isnota correct
explanation of Assertion (A)-
(C) Assertion (A) is true and Reason
(R) is false.
(D) Assertion (A) is false an
(R) is true

d Reason

CSP-1/C

49.

50.

‘6RI60Q’ RRIIY AE18AE 419G AGAIER o/dq
-1 az eiRal - 1T @ 6092 @Q 6 G96a geq
eaaiaeel 6219 (code) 9 0R @9F eaq
Qa |

QIRI-I Qimal-I1

(8991g 9RIR 699) (Ra4)

a. 4.4a (Af) i e 9919
ARG

b. ﬂ.@%(AW) ii. gIgaeaacga
olalallo

c. 4.9 (Am) iii. 6191 @RI

d. 9.9q(As) iv. g8 gIgeIe

sa1e (Codes) :

a b c d

(A) i i i v

B) ii iii 1 ™

(C) iii 1 il iv

(D) v ii i iii

Gqea 2R @d FUIAIAE, 661G QERIZ
(Assertion) A ve° 2a46 @iaa (Reason) R
Q6R GUITIRAR! 6RIQ Q ARA YR @ag |

96918 (A): 6aQ Agefiq 816w AQ9fl Q AIMG!

aas |

@106 (R) : 26aiR (Humbolt) 6gieQ c1aaigl

QUQRSE 28Ra QQIIA QIgAeR §6g FAge

aQI6a ggs YA gea eaaNd |

(A) ¢eGae 96qid (A)6 @aa (R)asy 26d
6 ola¢ (R) 6268 96718 (A) @ oK 4Ist!

QRTAIR 6F13 (A) B QIS (R)Qey aee
ag @148 (R), 26918 (A) @ O] uiel
Q69
Q6715 (A) acy z6e 8 q1aa (R) aad
2I6e

(B)

(®)

Q6RI3 (A) fanl Bes 8 Iad (R) Qs
3y

(D)

[P.T.O.
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52,

Match the following with respect to the
occurrence of races in List - IT to the type
of Races in List - L.
List-1

Races

a. The Turko-

Iranian
b. Thelndo-Aryan 2.

List-1I
Area of Existence
1. Rajasthanand
Punjab
Odisha
Assam
West India
(Gujarat
Karnataka)
North Western
Frontier Agency

and

c. The Scytho- 3.
Dravidian to

d. TheMongolo- 4.
Dravidian
Codes :

a
(A) 4
B) 1
©) 1
D) 4

N WA —~g
WO WO
— W N A

India is an agricultural country, where
most of the population directly or
indirectly involved in this sector.
Regarding agriculture in India, which one

of the following statements is/are not
correct?

1. Bajra is a Kharif crop, which

requires 25°-31°C temperature and
40-50 cm rainfall.

Cotton is categorized into three
groups long-staple, medium
and short-staple,

Currently, India accounts for aboyt
50% of the world’s to
production,

India is the Sécond-largest
producer of silk and the largest
consumer of'silk in the world.

Select the correct answer using the codes
given below:

(A) 2and4
(C) land2

staple

tal jute

(B) Only3
(D) Only 4

CSP-1/C
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S1.

S2.

SI0gel zqaiea eRql - I 926 ofe -1 g
6@ QIR - | ag @ag

oIm@I-1

cip-11

4/Q ugQ 62

A QLI-2QIQ 1. QeQIe 6 aaIQ

b. Qsai-aidaie 2. 6916 aQn

C. ARLA-QIRGAR 3. ¢F& QUee
(92915 @ 24I6Q)

d. ceap-9@ae 4. qea gaﬂ QIR
o QARG

8@l (Codes) :

a b ¢ d

A 4 1 3 2

B)1 4 2 3

©C1 3 2 4

D) 4 2 3 1

RUIAS 6208 1@ GEAIR 624 6RG0Ie LIS (2R
SR 9SIY QR QU AYSNA QU @ 69Q6Q
Q6T 288 | Qesq Q8 veQl 98Q o
AYe 609 Q8/a8 Joe ey Q6% |

. Qe 9@ uder aam, Qiel 25-3184t
Qlanigl ¥NQ° 40-50 cagfgq
2SS Q6Q

2. QQIQE6RIT ed/gain g Q9Q QUK
- Q1dRIY, ARNARIY @ IR

3. . QEAIR T96Q 6719 el QAQIIRER
WIASA 6QINQIR gIaee 50%

4. @19¢ 949 ¢eoia QeAN 6x4dA
QUIIRQ 624 1e° ATy €Q49N
RTIQ AT 6

Gq6a QARSI 6912 (codes) veia @@
OR @89G QIg |

(A) 264
(C) 162

(B) eaee 3
(D) eaee 4
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53. Match important projects in List - [ with
the area of implementation in List - 1]
and select the correct answer using the
code given below:

List-1 List - II

(Multipurpose (Area/ Place of

Projects in India) implementation)

a. Tungabhadra 1. Lower
Multipurpose Narmada Valley,
Project Gujarat

b. TheSardar 2. Nalgonda
Sarovar district,
Project Telangana

c. Nagarjuna 3. AndhraPradesh
Sagar Project and Karnataka

d. BhakraNangal 4. Punjab,Haryana
Project and Rajasthan

Codes :

a b ¢ d

A 1 2 3 4

B 2 3 1 4

© 3 1 2 4

D 4 2 1 3

54. Among the following options which
mountain pass doesn’t belongs to the
correct state?

(A) ShipkiLa—> Himachal Pradesh
(B) Aghil Pass — Uttarakhand
(C) Dipher Pass — Arunachal Pt adesh
(D) Jelep La — Sikkim

CSp-1/C

53.

54.

olRal I 6@ &9l Aeqyy geg a2 oiqel I ea
eQl g 689 (implementation) a2 6nea
@ G 596a QIR 6216 (code) YQTIR

A% O Q99 & 098 ! |
QImQl-I l[al=TH § |

(e @ 9ggH geg) (QuIee 648 / 9I9)

a. QEeg ngén 1. edel @ @g -
geg | Q4eYRl, YIS
b. adIe Q6RURR 2. 6RR6TIGI QIRY,
a8 6OREIAI
c. QIOIgR Algq geg 3. dIRd6ed G
odioR

Q&le, 2R G
QURGIR

d. Qgleen 9°g 4.

e2ie (Codes) :
a b
A 1 2 3 4
B) 2 3 1 4
© 3 1 2 4

D 4 2 1 3

Gr6a 2Ql 8eg AYQ 694 ade daaad ad]
QR 6L 7

(A) Qs (Shipki La) — @qiee g62d
(B) &o@ aigl (Aghil Pass) - @eQiss
(C) %eaa (Dipher Pass) — 2g¢I0R g8
(D) saaq @l (Jelep La) = 3&A

[P.T.O.




h
th

56.

57.

Which of the following factors ur;:
responsible for breaks in the monsoon:

. Origin oftropical cyclones in Bay

of Bengal

I Erratic behavior of 2 equatorial
troughs

II. Inadequate heating of Tibetan
Plateau

IV.  Southern Branch of South West

Tropical Jet re-establish over
northern India

Choose the correct options from below:
Options:

(A) IandIV

(B) LIIandII

(C) LIandIV

(D) IVandII

Which of the following river / rivers are
exhibiting the antecedent drainage
pattern in Odisha?

(A) TheMahanadiand the Brahmanj
(B) The Brahmani and The Baitarinj
(C) TheMahanadi and the Bajtarini
(D) The Baitarini and the Rushikulya

Black Earth soil has been developed in
which region of Odisha?

(A) BrahmaniBasin

(B) Mayurbhanj

(C) Anugul-AthamallikandBoudh
(D) Sambalpur Valley

CSP-1/C
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55.

56.

57.

G069 QIRE RR AUYQ 696E 899I ddage
QIR QIR 26T |

[ Q6eNaQIal 62 QB IR aQdge
el6e

I {010 3g96as @ 2a486/280 q4ealg
I &eaa FIRgfa AadyIg ealg

IV. <l4-adq q189 653 Q T4 415 a9

QAL QAR gagIde 6TIRT
O] Q89% @l?aa
eg :
A) Iselv
(B) LIIelIn
(©) LIsly
(D) VeIl

G0ea TULIRAN KG1/91PeR AAIQ 6866
AR gLl 87 BFIAR gaIR gede @qF |

(A) a2ex1 6 QIgat
(B) Q1941 6 c8eqe
(C) a21ae1 6 63oaqi

(D) sQcaan 6 adgmul

83919 629 28761 Qg QaeIa Sqia 958 ¢
(A) glaeﬁ AL

(B) «ageem

©) AQYR-BUOARR 6 68

(D) anraQe Qaoiq!



58. Match the morphological units of

Rolling uplands (List - I) with the correct
river basin (List - II)

List- I List-1I
(Morphological (Basin Associated)
Units)
a. The Rajgangpur 1. Ib Basin
- Panposh
Uplands
b. TheJharsuguda 2. Northern Tel
Uplands Basin
c. TheBalangir- 3. The Sabari
Titlagarh - Basin
Patnagarh uplands
d. TheMalakanagiri 4. Koelandthe
Uplands Sankh Rivers
Codes :
a b ¢ d
Aa 4 1 2 3
B 1 2 3 4
C 3 2 1 4
D 2 3 1 4

59. Which of the following is associated

with Chilika lake?
L  First Indian wetland under the
Ramsar Convention.

I. Irrawaddy dolphins
. Lacustrine plain

Select the correct answer using the code
given below:

(A) IandIlonly
(B) IandIllonly
(C) lonly

(D) I,Ilandlll

CSp-1/C

29

P

58. @@ Qf6R QI 8 agia (Giae

Iy -Da
az (eIl - I) 62 291 cad qaang 32“: =2
Qg 697 UIAR ? 699 QQ | e

Qlaal-1

SIRQI-11
(9099 1eQ) (991 °gQ AR
A AUFNFYR 1. aa (Ib)
- QIR6TIQ ARNIIRI )
Q@IS

b. ¥0QQel @2dIdl 2. 68RRQ1T A

2QQNRRI

C. NG - TGS 3. AR Q1
- CI19€1I9e R4l QLRI

d. aIReIeda eeaidl 4. 6QIM@ G AT a1

(Koel and the
Sankh Rivers)
sqle (Codes) :

a b ¢ d
Aa 4 1 2 3
@)1 2 3 4
< 3 2 1 4
M@ 2 3 1 4

P6AIQ FRIYQ 62N TRl 2@ IEe A°YY/A°NG
268 |

L Qe afest 2966 gas «1ae1a dig
Qf

I <@’ eeds

I  2uige aage

96R QAR 611 (code) 677 OR LRGT
QU8 |

(A)
(B)
©)
(D)

eaqe [ a1l

seae I 6 III
seqe I
LIIalIl

[P.T.O.



60.

61.

62.

Odisha experiences which types ol
climates according to Koppen’s climatic
classification?

(A) Tropical Savanna
(B) Humid Subtropical
(C) Mediterrancan

(D) Subtropical St.cppc

Which of the following statements are
correct in respect of ‘Objective
Resolution’ of Indian Constitution?

(1) The Author of this Resolution was
Dr. B.R. Ambedkar

It was adopted by Constituent
Assembly on January 22, 1947

(2)
(3) The goal of this Resolution was to

declare India as a Sovereign,
Socialist, Democratic Republic

(4)

This Resolution later framed as the
Preamble of Indian Constitution

1and 3 (B) 2and4
1 and 4 (D) 1and2

(A)
©)

Which of the following statements are
correct in respect of ‘Constituent

Assembly’?
(1) The Constituent Assembly was
constituted under the scheme of

‘Cabinet Mission Plan’

The total strength of Constituent
Assembly originally was 369

(2)

(3) 296 scats were allotted to Britjsh

India
(4)
(A)
(C)

73 seats to Princely States

2and3 (B) 3and4
| and 4 (D) 1 and 3

CSP-1/C
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60.

61.

62.

6RIER SRQIY ANRAG AFAIER BZAIER 6aR
JRIne FRRIL AYYS 99 7

(A)
(B)
(©)
(D)

a1Q A9g
8IQ QURIB
GAY ARG

QAURIBA 684

Qacia qAuiea ‘Objective Resolution’
QAF6R F67IQ AT A4 62T OR ?

(1

42 ACRIPIANA ARLAC QA T. Q.
2ICARRA YSA

1947 adel Igaial 22 6 QAR QN
QIQI 12l Q& 6IRMI

)

RGP IR AISENA, AAINSIF, GRS
dEAIRY NI6Q 6AITEI RAV 9L
QAERIPIARA RQY AR

3)

)

4@ Q6RIRYIAR A6R NUAGIA AAIFR
gsiee (Preamble) Quee gge saiqaml

163 (B) 264
164 D) 162

GV
©)

‘ARAUIR QA" A°AFER FEAIG A AN 6RET
oR ?

(1)

‘Cabinet Mission Plan’ sgige!
2UIREQ QRIS AR A0S 6RIRAR

(2)
(3)

QAU AN AR AN AR 369

Qe @8a1q 296 § §¢ mzeee
QA IRARI

4)
(A)
©)

€Q91a QNG 737 &
263

164

B) 364
(D) 183



63. Consider the following pairs in respect

64.

of ‘Sources of Indian Constitution® and
pick up the right matchings.

Item Source
(1) Office of - England
Governor
(2) Public Service - Govt. of India
Commission Act-1935
(3) Freedomof - USA
Trade &
Commerce
(4) TheLanguage - Australia
of Preamble of
Constitution
(A) land2 (B) 2and3
(C) 2and4 (D) 3and4

Which of the following Articles of
Indian Constitution are not related to

each other ?

(1) Art. 12 andArt. 36
(2) Art. 13 and Art. 368
(3) Art.22and Art. 32 ()
(4) Art. 141 andArt. 214
(A) 2and3

(B) 4only

(C) land3

(D) Allarerelated

CSP-1/C
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v, -

63.

64.

—~——

‘WS AFUIFR AW’ Anmeg f691g ¢
2 LY RIN% [

IR AR 99 OR 671Rag Q7 | e
aieee (Item) @9 (Source)
(1) QTIPS RALYRA - ARG
(2) eMREAQ BRI - NAAG AR
aNean-1935
(3) QieQa B QIEis @ - £IAd
QRSS!
(4) <fdig geesq - egwal
gl
A) 162 B) 263
© 264 (D) 364

RG1D AAUIGR 62Q Al (Articles) 991
Q%e QAnle gex ?

1)
)
(3)
C)
(A)
(B)
©)
(D)

aIRl 12 @ aix1 36
disl 13 g aisl 368
Al 22 6 ael 32 (2)
il 141 6 vien 214
263

4 cae@

163

QAYAFR QAR

[P.T.O.




65. Which of the following statements
correct in respeet of L

arc
ame Duck

Politician?

(1)
(2)
)
(4)
(A)
(B)

©)
(D)

Having lost a re-clection bid

Choosing not to seck another term
after expiration of his/her term.

No term limit running for
particular office again

Abolition of Office after his/her
official term

1,2and 4
2,3and 4
None of the above

All above

66. Which of the following statements are

correct in respect of Basic Structure of
Indian Constitution?

(1)
(2)

(3)

4)

(A)
(B)
(C)
(D)

CSP-1/C

It is a form of Judicial Review

Itis used to test the legality of any
legislation by the Courts

The Doctrine of Basic Structure of
Constitution gave free hand to
Parliament to amend any part of
Constitution

The Constitution of India defines
‘basic structure’ in terms of
Federalism, Secularism,

Fundamental Rights and Socialism,
land2

2and3
land 4
3and 4

65. 'Lame Duck Pgljtician' @ @adeq aq
QGYRP AUIY 6296 OR 7

66.

(1)
(2)

3)
4)
(A)
(B)
©
(D)

QRIIa FRIeR % JAIRS 62IRgen

G309 QITIRIP 669 622U 219 o
QYRR @ 609 IR T

A8g QIdYIea 9IQ QAITIAR AN 9ede
P5Q QA1 QITINIP T6Q AT Q6ge
1,264
2,364

QUEAIY 69U gL

Qdelg dag

QAAGIA AANIFR 6K Q& AR F6I
QF9Ee Ay 694G O] ?

(D)
)

3)

(4)

(A)
(B)
(©)
(D)

92l 9@ 9919 J0Ia I|ueIg Aa1al

6Q1¢ QI 6916T 2IRea TGl aqldl
QG9! dIR 9TIQ NTIQ FAUAIRAN

QIR 691G QIEIQ ]IS 92
6A6S16T 2°616Q A CARIS AIR AAYG,
Qe 29 s eqal

QARER AAUE A°AQ, UNFACATE,
6AIAR ZNRIR I AAIRQIQ QUER 6717
¢lEIg AANNTe @

162
263
164

334

-



67. Entry 5 ofListll of Seventh Schedule of

68.

Indian Constitution deals with -
(A) Public Order
(B) Public Health

(C) State Pensions

(D) Local Governments

Which of the following statements are

correct in respect of Art. 243 of Indian
Constitution?

(1) Art. 243 (O) provides
representation of chairpersons of
Panchayats at the Village level in
the Panchayats at the District level.

(2) Art. 243 (D) provides

representation for women to the
offices of chairperson

in
Panchayats at village level.

(3) Art 243 (I) is related to power to

levy taxes by Panchayats

(4) Art. 243 (J) is related to bar on the

courts to call in question the
election of Panchayats

(A) 2and3
(B) 1and4
(C) 1and?2

(D) 1and3

CSp-1/C

67.

68.

————

VARG AfIeg A9a g

99919 Q1fe
U694 5 a9 ade Ta

A)

QRN 26

B) caqigy

©)

UK 6TRQAR

)

[N AR

QG AR UIAl 243 A6 FEIQ
QAYYER ARIIQ 624G OF 2

(1) a1 243 (C) Gqu gaea asiaesa

FIFIgACQ VEING AUFRE JOTUQ IR
Q2

)

dial 243 (D) gi9ges aslaeqg@esa

AT RAGYIRAG AT IS gEFURQ
Vegl Q@8

(3) e 243 (1) amae QA T QI
QAU AAGI AT QARG .

4)

ARl 243 (J) asloe diIes a6l gg

Q01AQ AIR 6QIT AACR GBLES RIS
Q2 AR

(A) 263

®B) 164
©) 162

D) 163

[P.T.O.
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69.

70.

71.

Which of the following statement/s is/
are not correct in respect of G20
Developing Nations?

(1) Ttis a block of developing nations
established on April 30, 2001
This group emerged at the 5®
Ministerial NATO Conference
The Headquarters of G20
developing Nations is at Patna
The Member States of G20
Developing Nations is 20 countries
(A) 2and3 (B) 3and4
(C) land4 (D) land2

(2)
(3)
4)

During his visit to Australia PM Narendra
Modi spelled about 3 Cs, 3 Ds, and -3 Es
of India Australia friendship. Which one
of the following is correct in respect of
3Cs?

(A) Commonwealth, Cricket and Curry
(B) Cricket, Career and Candid

(C) Cricket, Coffee and Comfort

(D) Care, Career and Connect

Which of the following statement/s is /are
correct in respect of ‘Sengol’?

(1) “Sengol’ signifies the transfer of
power from British to Indians

It symbolises the Marathi culture

of transfer of power from one King

to other King

The ‘Sengol’ has beep re

in the new Parliament
India

(4) Pandit Jawaharlg] Nehru accepted
‘Sengol’at 10.45 PM onAugust 14
1947 from Adhinam of Kerala ’

(A) land3 (B) 2andq

(C) 3and4 (D) 2and3

(2)

3)

introduced
Bhavan of

CSP-1/C
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70.

71.

820 GRIAMI? QIGAINS AAREA Fg6Q
QuIAINYR! AFYER AUQ 69T OR Q6d 7

(1) 2 <ga 30 2001ca gogl eaInasql
TRIGGIR QAIF ARA IR 9|

g 69191 50 agigeia NATO
AFRRER Q@ 62RYRA

(2)

(3)

G20 SRI941? QgIEQ quyiea
AIFEN0IER 2AQFS

4)

G20 Q18619 QIFYERQ Iy Qg
62@8 20 G 624

A) 263
C) 164

(B) 364
(D) 162

26N GYEQ ARICER GUINART F6QR 671@
QUae-aAcghal 9gg a*axea 3 Cs, 3 Ds, @
3 Es a°aqea 2I6RIen! a@dden |

Q6aNg AIQ 698 3 Cs a°agsq OR 266 7
(A)
(B)
©)
(D)

Commonwealth, Cricket and Curry
Cricket, Career and Candid
Cricket, Coffee and Comfort

Care, Career and Connect

‘GQERIR’ ANV BIER TAIAINAS B A

6QQE 0K ?

(1) ‘easana’ §o¥IS 0IQ RIRGIAANIRG S
2gI2ag eI

92l 68 QRIS 019 UK K68l QRIS
FI01 2ISQ KR A0 A°FER gew

(2)

QAER §ER AATNIRER ‘eaeTIR’
a3 geae eIaiaw

coaaa aasiaoly 1947298 l14Q
10.45 PM 6@ Q86 SRIQIQQUR, 676YQ
‘GacENR’Q I8 FRYSR

163 (B) 264

364 (D) 263

(3)

(4)

(A)
(&)



72.  Which of the following statements are

73.

correct in respect of withdrawal of Rs.
2000 Currency Notes from circulation?

(1

This move is a part of RBI’s
Compound Note Policy

It’s aim is to provide the Public with

(2) :
high quality Currency Notes

Rs. 2000 Currency Notes were
introduced in the year 2015

3)

Printing of Rs. 2000 Currency
Notes were stopped in the year
2018-19

(4)

2and 4
3and4

(A)
(©

(B) land3
(D) land4

Which of the following statement/s is/
are correct regarding ‘Forest-PLUS 2.0
Programme’?

(1) This programme is a Five-year
partnership between USAID and
Ministry of Environment, Forests

and Climate Change.

Forest-PLUS 2.0 Programme
denotes ‘Forest for Wealth and

Health’

Tetra Tech is building capacity
across landscapes in three States in

India
The three States which come under

this programme are; Andhra
h, Karnataka and Bihar

(B) land4
(D) 3and4

2)

(3)

(4)

Prades
2and 4
land3

(A)
(©)
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(3) 2015 adziea 2000 c@al 6815 goea
alalia{iatIal

(4) 2018 -19 q@giea 2000 o2l 6qIgQ
(28 Q@R !UAIRYR

(A) 264 "(B) 163

(C) 364 D) 164
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(1) <% Qudign 9e2ie@ (USAID) ge°
a6, AN B ERQIY VAR AZIRA
aMieR 9@ Eedal QIen QIae! 26e |
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695166R A6l AAGI 266 |
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S

(A) 164

264 (B)

C) 163 (D) 364
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74.

S,

76.

Which one of the following statements

is not correct in respect of ‘Euxine

Sea’ ?

(A) This Seaisalsoknownas ‘Red Sea’.

(B) It is located between Eastern

Europe and Western Asia.

It serves as a barrier for NATO to

counter Russia.

(D) The carliest known name ofthe Sea
is ‘the Sea of Zalpa’.

(®)

Which of the following statement/s is/
are correct in respect of ‘The First
Ever Census of Water bodies in India-
2023° released by Ministry of Jal
Shakti?

(1) The Census enumerated a total of
24,24,540 water bodies across the
country

West Bengal has the highest
number of Tanks

Tamil Nadu has the highest number
of Lakes

(2)
3)
4)

(A)
©)

conservation schemes.
1 and 2 (B) 2and4

I and 3 (D) 4only

Which of the following statements are
correct in respect of ‘Nomadic
Elephant’?

(1) It is an Indo-Mongolian joint
military exercise

The Fourteenth Edition of this
exercise took place in the year
2019

This exercise is aimed to train
Elephants in Defence activities
The First Edition of ‘Nomadic
Elephant’ took place in Gwalior,
Madhya Pradesh. ,
(A) land3

(C) 2and3

(2)

(3)
(4)

(B) 2and4
(D) land2

CSP-1/C
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74.

75.

76.

Ba6a GaIdIRARl APYLe A 6Q0% ‘Qa%
qige’ anaca 0R 96% ?

(A) & Q6@ AU 6ake QIR AER AT
(B) <@ g9 Q6a1a ¢ 9aa @21 auisa
2Qge

adzig gesars @ael ail NATO &i@
<2l gBene qsa QIdY @6

<@ Qigea qIf 62a8 ‘enal age’ (Sea
of Zalpa).

©)

D)

erad ARIRa YA RIFe ‘AASER gaq aa
ad ee aggéea daql 2023’ aneea &9

Qggee aug 694C OR ?

1)

g2 Q4RI6Q 6Q9Q 67119 24.24,540
FPaLq 4RI *AUAIRAMI

géinqera ASIQ QHIR gIad AER

(2)
(3)
“4)

SIFRAIgR ATNE AEIQ 89 AER

an A°QTd 6AIGRIER AIFIEIE 2INER
Q&g
162
163

(B) 264
(D) 4 62e®

(A)
©)

‘CRIFIBR] MATUIY 2aH6a Fea FaIAIRS!
Q5gee ANg 6966 OR ?

(1) <ai9e QEINETIRAR AAAUNID

(2) <2 QAL oqda a~aqs 2019
6Q 2936 salaam

goaml QIIgaea ioInIeg glaa 69l
9% gaaIeiIae KAt QYA

0l6Q ‘ERIAILK
gl

A3)

ARNYETIR 6QIARAR 0168
QAgqye'a 9an AAQE 2Q§G 6TIR

163 (B) 204
2483 (D) 162

“4)

(A)
(&)



77. Which of th
are not corre

78.

e following statement/s is/
ct in respect of ‘Batagaika

Crater’?

(1) The Batagaika Crater is situated in

)

@)

(4)

(A)

©)

Australia Far East

This region has become a focal
point for studying the effects of
climate change on permafrost.
The Batagaika Crater is
affectionately referred as ‘The Sky-

b}

m

The permafrost thaws release
enormous quantities of Organic

Carbon.

2and3 (B) land4

1 and3 (D) 2and4

Which of the following statements are
correct in respect of ‘Talisman Sabre

Exercise - 2023°?

(1)

@)

€)

(4)

(A)
(@)

USA and France have initiated the
“Talisman Sabre Exercise - 2023’

It is a joint military exercise of the
two countries

This Exercise is held for every Four
Years

India attended as an Observer to
this military exerc1s

(B)
(D) 2and3

2and 4 land3

Jand 4

CSp-1/c
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77.

78.

‘Batagaika Crater’ arames Gasa waimmem
QAPYER AU, 6aWG OR, 6% 7 :

(1)

(2)

3)

4)

(A)

©)

‘Batagaika Crater’ 26ghag g
Q6 AR

AQAIETIY QUER FRRIL, DRREAA Yo
ZAYOE TIR N8 YER IR 62897 AINTR

‘Batagaika Crater’ @ 69269 ‘@2l
QR 6QIM QLI

Permafrost thaws Qe aQl€a G
QSR BCe A6
263 B) 164

163 (D) 264

269119 @390 aug 6ewe ‘Talisman Sabre
Exercise - 2023’ qasea 0K 26 ?

(1)

(2)

3)

4)

(A)

(©)

2499 ¢ 219, ‘Talisman Sabre
Exercise’ - 2023 @ 219a @388

N2 9RT 6942 9@ ARe AnQIQIQ 26T
g0 clGedsa 12 AAQIQIIQ AQFS g3

NE QAR IR Q6T Q6Q NIRE
691G

264 (B) 163
3ad (D) 263
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79,

80.

Which of the following statements arc
not correct in respect of ‘Rajasthan
Minimum Guaranteed Income Bill-
2023’ '
(1) Underthis Scheme every family 1s
entitled to guaranteed employment
for 125 days per ycar.

This Scheme provides guaranteed
minimum monthly Pension fixed at
Rs. 2000/- per month for specific
categories

This scheme encompasses the
flagship of ‘Jawahar Rozgar Yojana’
for urban areas.

To implement this programme
Govemment has estimated additional
expenditure of Rs. 2,500 Crore
annually.

(A) 3and4
(C) land3

(2)

3)

4)

(B) 2.and3
(D) 2and4

Which of the following statements are
not correct?

According to the Second Edition of
National Multidimensional Poverty
Index-2023 released by NITI Aayog -

(1) 13.5 Crore people escaped from
multidimensional poverty

Inrural areas there is rapid decline

in poverty from 32.59% to
19.28%

Bihar registered the largest decline
in the number of poor individuals,
This Report
comprehensiy e

(2)

(3)

4)

covered g

analysis of poverty
Administrative

(B)
(D)

l and 2
land 3
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(1)
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3)
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4)

(A) 364

©)

B) 263

163 D) 264

Q6 694 8¢ 0K 964 7

Q16 2l6aIg QIR RIFe RISIA AT ARQY
geqie 2023 @ Go1a 9°ead aAgalea -

13.5 6T 6RIQ QS QUAGIQ Qs
aIRgd

(1)

giqERea QAR 32.59 % 9 19.28%
Q €14 QI

(2)

3eI06a SAeE el Ag0IQ TIQ AIRR

3)
4)

@@ Gcaigea 1075 @ garle SQIeR
QIBQIQ AR NITR F64IN QAR

(B) 162

(A) 204

(D) 163

(C) 3a4



81.

82.

83.

Which State Government in India has
taken significant step to introduce an
educational initiative called ‘CM Rise
Schools’?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Kerala

(D) Andhra Pradesh

Which of the following statements are

correct in respect of ‘Agreement on use

of Local Currencies for cross-border

transactions’?

(1) India and UAE have signed a
memorandum in this Agreement.

(2) This agreement enables a frame
work for trade settlements in their
respective national currencies.

(3) ThisAgreement was signed by the
Prime Ministers of India and UAE

(4) Peekay Intermark Ltd. and Reserve
Bank of India were the first users
of this system

(A) 2and4 (B) 3and4

(C) land2 (D) land3

Which of the following statements are

correct in respect of ‘Namda Project’?

(1) This project is a part of ‘Pradhan
Mantri Kaushal Vikas Yojana’.

(2) Under this programme 2200
candidates from Assam were

trained -
(3) The aim of this project is to
preserve the endangered crafts of

wool weaving-
(4) This project works under public -
private partnershlp
(A) 2,3and4
(C) 1,2and3

(B) 1,3and4
(D) 1,2and4

CSp-1/C
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RUAGEA QA QIQY A9RQ

Schools’ Q1@ 9@ aeqqd aag CM Rise

A9 63997 9
(A) euy gees

(B) <@a gees
(C) coan
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(1) Qae 9e° gaa @ QI8 9g6Q 91T
Q388 '

(2) <@ guIAdl RFRS QAR 3164 QAR
Q6RIeg dIR Y8 QUeRs dIIe Q6Q

(3) @ae ¥ gIaa ueAgia qal @
QuIAdl 9g qIFa 62103

(4) Peekay Intermark Ltd. ¥e° Qia61a
06 QUi 9% QIegia 9aF YL

glem
(A) 264 (B) 364
(C) 162 (D) 163

‘Ngmda Project’ @°ae 36719 Q@gER F114

6296 0Q ?

(1) ‘quieaql @8 GI8 caIReI'a 12 geg
6QlIGN 2°4l 26T

(2) @@ Qidiga 2a1eea i 2200 gid
9930 IR

(3) Q999 angel 2gdeg A°AAG *AFI IR
gega AWy 26S

(4) T geg 2aRIQ! - 624N QUARIAG!
2RER QIY KR

A) 2,364 (B) 1,364
(C) 1,263 (D) 1,264
[P.T.O.



84.

8S.

86.

The Bhaumakaras started an era in the
year 736 CE. What was the last known
date mentioned in the Bhauma-kara

records.

(A) 187
(B)
©
(D)

The Bhanjas of Khinjali-mandala initially
had their capital at Dhritipura, but later
on they shifted their capital to

(A) Vanjulvaka
(B) Vinitapura
(C) Yayatinagara
(D) Vyaghrakota

With reference to Mahasivagupta
Balarjuna consider the following;:

1. He was the Panduvamsi king of
South Kosala with is capital

located at Sirpur.

5 He extended his dominion by
capturing Suvarnapura, modern |

Sonepur.

3. He ruled for more than 57 years.

How many statements given above are
correct?

(A) Onlyone
(B) Onlytwo
(C) Allthree
(D) None

CSP-1/C
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(A) 187
(B) 190
(C) 204
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©)
D)

QAGRQURI
@gelgal
AAICRI

QIIERIS!

a2ideqgl SINIGRY ARIK /%) BaRge g 801eg
felarg 6d:

1. 6a gigasa 2egide aieal a2 o84
cRlERa QIFI AIgRIT AR

2. 6agedqal, URES 6ARYR 23019 99
oiea QIge @ 9dQial g QIR

3. eq 57 adq AR 6IAF GAYSR

Qasalg 6a69I% @@ 0Q 269 ?

(A)
(B)
©)
D)

caan 6916
caaq 9R%
Seal6 99

cal@ds Qb




87. With reference to the creation of a

separate province of Orissa consider the
following statements.

1.  The British Parliament’s
Constitution of Orissa order, 1936
got the approval of the king on 3
March 1936 and Orissa became a
new province on 1 April 1936.

o

Sir John Austin Hubback was

appointed as the first Governor of
Orissa.

3.  Sir Courtney Terel, the Chief
Justice of Bihar and Orissa High
Court, administered the oath of
office to the new Governor.

The inaugural function was held in
Ravenshaw College Hall at
Cuttack. -

How many statements given above is/are
correct?

(A) Only one (B) Only two
(C) Only three (D) All four
88. Mahatma Gandhi visited Odisha in

1. March 1921 |

2. August1925

3. December 1927

4. September 1930

Which of the above is not correct?
(B) Only2
(D) Only4

(A) Only1
(C) Only3

CSP-1/C
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QACAIG AU 69T OR §6L ?

(A) saee | (B) seee 2

(C) e@ee 3 (D) eaee 4
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89. Kapilendradeva subdued many feudatory

90.

91.

chicfs who rebelled against him. Which
of the following did not belong to this

category?

(A) The Gangasof Khemundi
(B) The Chauhans of Patna
(C) TheMatsyas of Oddadi

(D) The Silavamsis of Nandapura

Which of the following pair is not
correctly matched?

(A) Bichitrananda Das : Kujibara
Patrika
(B) Utkal Dipika : Gauri Shankar Ray

©

Sambalpur Hitaisini : Nilamani
Vidyaratna

(D)

Where do we come across the
madhavapura mahavihara?

(A) Ratnagiri
(B) Udayagiri
(C) Lalitagiri

(D) Pushpagiri

CSP-1/C
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92.

93.

94,

What is not true about the Prajamandala
movement in Odisha?

(A) It wasa movement against the
obnoxious taxes and ill treatment to
the subject population by the
feudatory chiefs of the Gadjat states.
Sarangadhara Das, Harekrushna
Mahatab, Pabitra Mohan Pradhan
and Nabakrushna Choudhury were
the important leaders of the
movement.

It started with the murder of Major
Bezelgate, the Political Agent in
Ranapur.

A State Enquiry Committee was

(B)

©

(D)

constituted by the Government

under the chairmanship of
Harekrushna Mahatab in 1937 to
report on the condition of people
in Gadjat states.

Subei, Kachela and Jamuda, the three
sites in the undivided Koraput district of
Odisha, are famous for?

(A) Jainarelics

(B) Buddhistrelics

(C) Brahmanical relics
(D) Neolithic tools

Consider the following statements

regarding the Rig Veda. .

1. Itmentions the Aryans as a cultura
community.

2. It has many commonalities with
Avesta,

3. Itmentions Saraswati as naditarna.

It indicates that the dasyus kept
cattle for dairy products,

Which of the following are correct?
(A) 1,2and3 (B) 2,3and4
©) 1,3and4 (D) All are correct
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(D)
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(A) B0 2ecas '

(B) 6qle aq6dd

(C) <ligan aead

(D) qe% 9ge Y919 QUexd
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3. Q%o (naditarna) QIES ARG RERS

288
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(A) 1,263
(C) L,3a4

(B) 2,364
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9s.

96.

Consider the following statements .

regarding the Parthians.

1. They had migrated from Iran.

2. They setupakingdomin East India.
3. Gondophereswas aParthian king.

4. They arc mentioned together with
the Shakas in the Sanskrit texts.

Which of the following are correct?
(A) 1,2and3

(B) 1,3and4

(C) 2,3and4

(D) Only 3 and 4

Consider the following statements about
Sangam literature.

1. The narrative texts are called
Melkanakku. '

2. The didactic texts are called
Kilkanakku.

3.  Thirukkural is'a major Sangam
text.

4.  Many Sangam texts were the works

of brahmana scholars.
Which of the following are correct?
(A)
(B)
(C) 2,3and4

1,2and 3
1,2and 4

(D) Onlyland4

CSP-1/C
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97. Consider the following pairs

A king and a
Kannada poct.
Poct

Jain

1. Amoghavarsha -

Kannada
under
Influence.

2. Pampa

Began writing the
Mahabharata in
Telugu.

Jain Poet, who
wrote on Ramayana
themes.

3. Nanniah -
4. Ponna -

Which of the pairs are correctly matched ?
@A) 1,2 and 3

(B) 2,3and4

(C) 2and4

(D) Allare correct

Consider the following statements about
Buddhism.
1. Itwas patronized by the Pala kings.

98.

2. Buddhawas worshipped as a God
in Mahayana Buddhism.

3. Hinayana considers Buddha as an
ordinary. being who attained

Nirvana.
4. Vajrayana focused on Hindu
Practices. :
Which of the following are correct?
A) 2,3 and 4
B) L 2and3
©) Only 3 and 4
(D) Allare correct

Csp-1/C
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99,

100.

Consider the following statements
regarding Alauddin Khalji.

1.  He sct up three distinet markets
one for food grains, onc for cloth
and the third for horscs.

A Shahna was posted in the market.

The Peasants had to pay land
revenue in kind.

4. Slaves were transacted in market
during his time.

Which of the following are correct?
(A) 1.2and3

(B) 2,3and4

(C) 1,2and4

(D) Only 1and4

Consider the following statements
regarding the Subsidiary Alliance in
British India.

1. TheIndianrulersigning the alliance

would agree to the posting of a
British Resident.

2. TheIndian ruler could employ any

European in his state.

3. TheIndian ruler would cede a part

of his territory for payment of
subsidy.

Expenses of the British army in the

state to be shared with the
Company.

Which of the following are correct?
(A) 1,2and3
(B) 2,3and4
(€) 1,2and4
(D) Only 1 ang 3
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99.

100.

UINAERE YARIE ARIAEA T ARG Foiq
aQ |

. 690671 R AR QRLEM 63T &iay
494 AIG, 691G KA T 6 Go1gE
6QIFIAIRE QIR

SRR QNI F 6RAAMI
3. 99196 {NR gRIeq 86 e 624 agsn

69% AAAEQ QT-QIA ARIQAEQ 99-352
6226

Q9 AIQ 62AG O] ?
(A) 1,263

B) 2,364

(C) 1,264

(D) saee le4 |

304 QUAGER ARIGR 67§ AIRAER FIAGES
Q@ Aleg I @9 |

1. @ueeia I9enies c3ede §2a QuIaRg
QAR PEAARA AETEY6Q 6719 AR

QAL QAR F QIsieq 6A614d
QEAUTNK @ QU6 QYaleR

3. QUeSIa €19 99GF 600 AR GISR
aQ1dql 63gQ TR 2°8 AAdE FQACK

QAR AY 2°HIRIQ 629! AIN QAUSIER
6Q6QEQ 6QRI A QQAER

QQ ARINQ 6QQG OR ?
(A) 1,263
(B) 2,34
©)

(D) seee 163

1,264
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